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1. Given that g is proportional to A%, and that g = 1 when h = 3,

{a) find an expression for g in terms of A,

(b) find g when h=2.

Given that y is proportional to x?, and that y = 4 when x = 0-5,

fa) lind an expression for y in terms of x,

(b} use the expression you found in (a) to complete the following table.
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3

fa) find an expression for v in terms of x,

{b) caleulate
(1) the value of v when x = 20,

(i)  avalve of x wheny = —=~

100"

4, Given that y is proportional to x2, and that y = 12 when x = 2, calculate

a) the value of y when x = 5.

" Given that y is inversely proportional to x*, and that v = 4 when x = 10,

b) the value of x when y = 48.
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" Given that y 1s inversely proportional to x, and that y =4 when x = 6,

{a) find an expression for y in terms of x,

[31]
(b) complete the following table for values of x and v.
1
x 5 (s}
b 4 3
[2]
6. Given that y is proportional to x3, and that y = 4 when x = 1, calculate
a) the value of y when x = 2.
b) the value of x when y = 256.
(5)

©MathsDIY.com Page 3 of 7



7.
You are given that y is inversely proportional to xz, and that y = 100 when x = 2.

(i) Find an expression for y in terms of x.

MAJTHSDIY

(ii)  Use the expression you found in (i) to complete the following table.

-

Given that y is inversely proportional to x2, and that y = 10 when x = 12, find an expression for
yin terms of x.

(3]
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9 Given that y is inversely proportional to x, and that y = 3 when x = 8§,

fa) find an expression for v in terms of x,

MAJTHSDIY

3]
{b)  complete the following table for values of x and y.
1
x 3 8
y 4 3
2]
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fa) find an expression for y in terms of x,

{b) use the expression you found in {a) to complete the following table.

10. Given that y is inversely proportional to x, and that y = 3 when x = 2,

01
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11.
Given that v is inversely proportional to x~, and that y = 2 when x = 15,

E
(7))
§ fa) find an expression for v in terms of x,

(3]
(k) calculate
(1) ywhenx=10,
(1]
(1) xwhen y=350.
............................................. [2]
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